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1) Question No. 1is Compulsory
2) Answer any three questions from remaining questions.
3) Figures to the right indicate full marks.

1 a) Ewvaluate Lm y"g“’"“d}n 3
b) Find the circumference of a circle of radius r by using 3
parametric equations of the circle x = rcosf. y = rsing. :
c¢) Solve(D? 4D -6)y = e :
d)  Evaluate [ [ xy(t? "'J’a)dﬂ‘
4

e) Solve (tany 4 x)dx + (xsec’y - 3y)dy = 0.

4
f) Sﬁ"*g—l+ww‘ﬂllnmalmndnlmxg=0)'.#03 by
Euler’s m Find the approximate value of yatx =

0.4withh=0.1.
2 a) Solve (D? — 4D + 3)y = e*cos2x + x°. 6
| o
b tan"’ax . _ W :
) Show that [" ——=dx =7log(1 +2)
4% cydydx. ¥

Change the order of integration and evaluate j' _f

-

yzdxdydz Ihroughom the volume bounthd by 6

Evaluate ([ x*
P o Lplpisn,

ﬁeﬂm:-ﬂy=0:=0md

LS.~ the mass of lamina of a cardioid r = a(1 + cos®) . X
| Fh: density at any point varies as the square of its distance =

from its axis of symmelry.
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Q4 a)

b)

b)

¢) Evaluate f
and iii) Simpsons (3/8)th rule. 1

Q.6 a) Find the volume of the region that hes under the paraboloid 7 =

x“ + y? and above the trian
gle enclosed by the lines vy =
Oandx+y—-2mthexyplane ’ S TS

b) Change to polar coordmates and evaluate [ f yzdxdy Over th
area outside x* + y2 — gx = 0 and inside x? + y2 — 2qx = C

c) i{;lve by method of variation of parameters
1
dx? 1+sinx
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ration the area common tg the ¢

sy double nteg
Find by 7 sinf. rcl‘é'i
2cosfand 1 = 1
dy o
Solve '«‘”123‘ A e
3.:
er

= 3x + with initial condit;
Solve e }’ s Yo < un

v, = 0 at at x=0.2 in steps of h=0.1 by Runge Kutta Methg,_

fourth order.

i &

Evaluate f x°sin~'x dx and find the value of 8 (2 ) .
2

The differential equatlon of a moving body Opposed by a f
per unit mass of value cx and resistance per unit mass of yal
k E

bv* where x and v are the displacement and velocrty of ,
dv
particle at that time is given by L cX — bv?, Fing the

velocity of the pamcle In terms of X, 1f it starts from the rest,

by using 1) Trapezoidal ii) Simpsons (173
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